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1. The energy of a closed and

isolated system

(A) remains constant

(B) increases

(C) decreases

(D) None of the above

2. Which law of thermodynamics

states that “equal volume of

gases at the same temperature

and pressure contains the same

number of molecules”?

(A) Charles’ law

(B) Boyle’s law

(C) Avogadro’s law

(D) Kick’s law

3. Polytropic expansion differs

from adiabatic expansion in that

the

(A) heat is added during the

process

(B) heat is removed during the

process

(C) heat may be added or

removed during the process

(D) None of the above

4. Paraboloidal dish-type solar

collector can produce tempera-

ture up to

(A) 1000 °C

(B) 2000 °C

(C) 3000 °C

(D) 4000 °C

5. Keeping the other factors

constant, a floating drum-type

biogas plant

(A) produces higher gas than

fixed dome-type plant

(B) produces lesser gas than

fixed dome-type plant

(C) produces gas equal to a

fixed dome-type plant

(D) produces either equal or

less gas than fixed dome-

type plant

6. In an updraft gasifier, the

temperature of oxidation zone

ranges between

(A) 500 °C–700 °C

(B) 600 °C–800 °C

(C) 700 °C–900 °C

(D) 1000 °C–1200 °C

7. Wind with 6 as Beaufort number

will have speed in the range of

(A) 3·6 m/s–5 m/s

(B) 5·8 m/s–6·5 m/s

(C) 11 m/s–14 m/s

(D) 17 m/s–21 m/s

8. The solidity of a windmill with

6 m rotor having 30 blades each

of 30 cm width would be

(A) 7·95%

(B) 6·95%

(C) 7·50%

(D) 8·50%
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1. EH$ ~›X Am°a n•WH≤$ ‡Umbr H$s D$Om©

(A) pÒWa ahVr h°

(B) ~ãT> OmVr h°

(C) KQ> OmVr h°

(D) Cn`©w∫$ _| go H$moB© Zht

2. W_m}S>mBZ°o{_äg H$m H$m°Z-gm {Z`_ H$hVm h°

{H$ "g_mZ Vmn_mZ Am°a X~md na J°gm| H$s

g_mZ _mÃm _| AUwAm| H$s gßª`m g_mZ

hmoVr h°'?

(A) MmÎg© H$m {Z`_

(B) ~m∞`b H$m {Z`_

(C) AdmoJm–mo H$m {Z`_

(D) {H$H$ H$m {Z`_

3. nm∞brQ¥>m∞{nH$ {dÒVma, E{S>`m~°{Q>H$ {dÒVma go

{^fi h°, ä`m|{H$ Bg_|

(A) ‡{H´$`m Ho$ Xm°amZ D$Ó_m OmoãS>r OmVr h°

(B) ‡{H´$`m Ho$ Xm°amZ D$Ó_m H$mo hQ>m`m

OmVm h°

(C) ‡{H´$`m Ho$ Xm°amZ D$Ó_m H$mo OmoãS>m `m

hQ>m`m Om gH$Vm h°

(D) Cn`©w∫$ _| go H$moB© Zht

4. n°am~mobm∞BS>b {S>e ‡H$ma H$m gm°a gßJ´mhH$

Vmn_mZ CÀnfi H$a gH$Vm h°

(A) 1000 °C VH$

(B) 2000 °C VH$

(C) 3000 °C VH$

(D) 4000 °C VH$

5. A›` H$maH$m| H$mo pÒWa aIVo h˛E, EH$ ‚bmoqQ>J

S¥>_ ‡H$ma H$m ~m`moJ°g gß`ßÃ

(A) pÒWa Jwß~X ‡H$ma Ho$ gß`ßÃ H$s VwbZm _|

A{YH$ J°g H$m CÀnmXZ H$aVm h°

(B) pÒWa Jwß~X ‡H$ma Ho$ gß`ßÃ H$s VwbZm _|

H$_ J°g H$m CÀnmXZ H$aVm h°

(C) pÒWa Jwß~X ‡H$ma Ho$ gß`ßÃ Ho$ ~am~a J°g

H$m CÀnmXZ H$aVm h°

(D) pÒWa Jwß~X ‡H$ma Ho$ gß`ßÃ H$s VwbZm _|

`m Vmo ~am~a `m H$_ J°g H$m CÀnmXZ

H$aVm h°

6. EH$ AnS¥>m‚Q> J°gr\$m`a _|, Am∞ägrS>oeZ OmoZ

H$m Vmn_mZ {H$ZHo$ ~rM hmoVm h°?

(A) 500 °C–700 °C

(B) 600 °C–800 °C

(C) 700 °C–900 °C

(D) 1000 °C–1200 °C

7. ~mo\$moQ>© gßª`m 6 dmbr hdm H$s J{V H$s gr_m

hmoJr

(A) 3·6 m/s–5 m/s

(B) 5·8 m/s–6·5 m/s

(C) 11 m/s–14 m/s

(D) 17 m/s–21 m/s

8. 6 m amoQ>a dmbr EH$ ndZ-MäH$s H$s

gm∞{b{S>Q>r, {Og_| 30 cm Mm°ãS>mB© Ho$

30 „boS> h°ß, hmoJr

(A) 7·95%

(B) 6·95%

(C) 7·50%

(D) 8·50%



9. The assumption of the ideal Otto

cycle is

(A) piston has zero friction in

the cylinder

(B) only air is used in the

cylinder

(C) no heat transfer takes place

through engine wall

(D) All of the above

10. Octane Number Requirement

(ONR) of an engine is affected by

(A) air-fuel ratio

(B) combustion chamber design

(C) ignition timing

(D) All of the above

11. Gum content in engine fuel

causes

(A) sticking of intake valve

(B) sticking of exhaust valve

(C) cleaning of piston

(D) cleaning of exhaust valve

12. Which of the following is an

absorption dynamometer?

(A) Prony brake dynamometer

(B) Hydraulic dynamometer

(C) Air-brake dynamometer

(D) All of the above

13. Tractors in the range of 60–90

Pto HP has Pto speed of

(A) 540 r.p.m. only

(B) 1000 r.p.m. only

(C) both 540 r.p.m. and

1000 r.p.m.

(D) 1200 r.p.m. only

14. The danger of overturning of

tractor can be reduced by

(A) careful driving

(B) proper location of CG

(C) proper location of hitch

point

(D) All of the above

15. The value of tractive efficiency of

a tractor, on stubble and

ploughed surface, reaches to its

peak at

(A) 1
3
rd of maximum drawbar

load

(B) 2
3
rd of maximum drawbar

load

(C) 3
4
th of maximum drawbar

load

(D) equal to maximum drawbar

load

16. In a clutch, abnormal wearing of

lining may occur due to

(A) insufficient pedal free play

(B) warped pressure plate

(C) overriding of the clutch

pedal

(D) All of the above
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9. AmXe© Am∞Q>mo gmB{H$b H$s YmaUm h° {H$

(A) {gqbS>a _| {nÒQ>Z H$m Kf©U ey›`

hmoVm h°

(B) {gqbS>a _| Ho$db hdm H$m Cn`moJ {H$`m

OmVm h°

(C) BßOZ H$s Xrdma go D$Ó_m H$m hÒVmßVaU

Zht hmoVm h°

(D) Cn`©w∫$ g^r

10. {H$gr BßOZ H$s Am∞äQ>oZ ZÂ~a AmdÌ`H$Vm

(Amo0 EZ0 Ama0) {H$gHo$ ¤mam ‡^m{dV

hmoVr h°?

(A) dm`w-B™YZ AZwnmV

(B) XhZ H$j H$s {S>OmBZ

(C) B{æeZ Q>mBq_J

(D) Cn`©w∫$ g^r

11. BßOZ Ho$ B™YZ _| Jm|X (J_) Ho$ H$maU

(A) B›Q>oH$ dmÎd H$m {MnH$Zm hmoVm h°

(B) EΩOm∞ÒQ> dmÎd H$m {MnH$Zm hmoVm h°

(C) {nÒQ>Z H$s g\$mB© hmoVr h°

(D) EΩOm∞ÒQ> dmÎd H$s g\$mB© hmoVr h°

12. {ZÂZ{b{IV _| go H$m°Z-gm EH$ AdemofU

(E„Om∞n©eZ) S>m`Zo_mo_rQ>a h°?

(A) ‡moZr ~´oH$ S>m`Zo_mo_rQ>a

(B) hmBS¥>m∞{bH$ S>m`Zo_mo_rQ>a

(C) E`a-~´oH$ S>m`Zo_mo_rQ>a

(D) Cn`©w∫$ g^r

13. 60–90 Pto AÌde{∫$ dmbo Q¥>°äQ>am| _| Pto

H$s ÒnrS> hmoVr h°

(A) 540 r.p.m. _mÃ

(B) 1000 r.p.m. _mÃ

(C) 540 r.p.m. Am°a 1000 r.p.m.

XmoZm|

(D) 1200 r.p.m. _mÃ

14. Q¥>°äQ>a nbQ>Zo H$m IVam H$_ {H$`m Om gH$Vm h°

(A) gmdYmZrnyd©H$ MbmH$a

(B) JwÈÀd-H|$– H$m C{MV ÒWmZ hmoZo go

(C) {hM {~›Xw H$m C{MV ÒWmZ hmoZo go

(D) Cn`©w∫$ g^r

15. nambr Am°a IoV H$s OwVr h˛B© gVh na, Q¥>°äQ>a

H$s H$f©U XjVm AnZo Ma_ _mZ na nh˛±MVr h°

(A) A{YH$V_ S¥>m∞~ma bmoS> Ho$ 1
3

^mJ na

(B) A{YH$V_ S¥>m∞~ma bmoS> Ho$ 2
3

^mJ na

(C) A{YH$V_ S¥>m∞~ma bmoS> Ho$ 3
4

^mJ na

(D) A{YH$V_ S¥>m∞~ma bmoS> Ho$ ~am~a hmoZo na

16. äbM _|, bmBqZJ Ho$ Agm_m›` {Kgmd H$m

H$maU hmo gH$Vm h°

(A) An`m©· noS>b \´$s flbo

(B) {dH•$V ‡oea flboQ>

(C) äbM noS>b H$s AmodaamBqS>J

(D) Cn`©w∫$ g^r



17. In general, the tractor engine oil

should be changed after

(A) 50 hours of working

(B) 100 hours of working

(C) 120 hours of working

(D) 150 hours of working

18. Tractive- and transmission-

coefficient for track-type tractor

on soft ground would be

(A) 0·20 to 0·30

(B) 0·50 to 0·60

(C) 0·80 to 0·85

(D) None of the above

19. For complete closure of engine

valve, a clearance of _____ is

provided at the end of the valve

stem.

(A) 0·15 mm–0·41 mm

(B) 0·31 mm–0·51 mm

(C) 0·50 mm–0·60 mm

(D) None of the above

20. Weldability of a metal depends

upon its

(A) melting point

(B) thermal conductivity

(C) thermal expansion

(D) All of the above

21. In oxy-acetylene welding, the

temperature of flame in its

hottest region is about

(A) 2800 °C

(B) 3000 °C

(C) 3200 °C

(D) 3450 °C

22. The size of a shaper is

determined by

(A) overall dimensions of

shaper

(B) maximum length of stroke

(C) the size of shaping tool

(D) None of the above

23. Based on its method of

mounting, which is a class of

milling cutter?

(A) Arbor type

(B) Shank type

(C) Facing type

(D) All of the above

24. The effective field capacity of a

machine depends on

(A) rated width of machine

(B) time lost during field

operation

(C) percentage of rated width

actually utilized

(D) All of the above
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17. gm_m›` Vm°a na Q¥>°äQ>a Ho$ BßOZ Am∞`b H$mo

~XbZm Mm{hE

(A) 50 KßQ>o H$m_ H$aZo Ho$ ~mX

(B) 100 KßQ>o H$m_ H$aZo Ho$ ~mX

(C) 120 KßQ>o H$m_ H$aZo Ho$ ~mX

(D) 150 KßQ>o H$m_ H$aZo Ho$ ~mX

18. Q¥>°H$ ‡H$ma Ho$ Q¥>°äQ>a Ho$ {bE Q¥>°päQ>d Am°a

Q¥>mßg{_eZ JwUmßH$, Za_ O_rZ na, hmoJm

(A) 0·20 go 0·30

(B) 0·50 go 0·60

(C) 0·80 go 0·85

(D) Cn`©w∫$ _| go H$moB© Zht

19. BßOZ dmÎd H$mo nyar Vah go ~ßX hmoZo Ho$ {bE,

dmÎd ÒQ>o_ Ho$ AßV _| _____ H$m äbr`a|g

‡XmZ {H$`m OmVm h°ü&

(A) 0·15 mm–0·41 mm

(B) 0·31 mm–0·51 mm

(C) 0·50 mm–0·60 mm

(D) Cn`©w∫$ _| go H$moB© Zht

20. EH$ YmVw H$s doÎS>oo{~{bQ>r {Z^©a H$aVr h°

(A) CgHo$ JbZmßH$ na

(B) CgH$s Vmnr` MmbH$Vm na

(C) CgHo$ Vmnr` {dÒVma na

(D) Cn`©w∫$ g^r

21. Am∞ägr-E{g{Q>brZ dopÎS>®J _|, bm° Ho$ g~go

J_© joÃ H$m Vmn_mZ hmoVm h°, bJ^J

(A) 2800 °C

(B) 3000 °C

(C) 3200 °C

(D) 3450 °C

22. EH$ eona H$m AmH$ma {H$gHo$ ¤mam {ZYm©[aV

hmoVm h°?

(A) eona H$m g_J´ Am`m_

(B) ÒQ¥>moH$ H$s A{YH$V_ bß~mB©

(C) eoqnJ Qy>b H$m AmH$ma

(D) Cn`©w∫$ _| go H$moB© Zht

23. AnZo _mCß{Q>J Ho$ VarHo$ Ho$ AmYma na, BZ_| go

H$m°Z-gm {_qbJ H$Q>a H$m EH$ dJ© h°?

(A) Am~©a ‡H$ma

(B) e¢H$ ‡H$ma

(C) \o$qgJ ‡H$ma

(D) Cn`©w∫$ g^r

24. {H$gr _erZ H$s ‡^mdr joÃ j_Vm {Z^©a

H$aVr h°

(A) _erZ H$s aoQ>oS> Mm°ãS>mB© na

(B) \$sÎS> Am∞naoeZ Ho$ Xm°amZ ~~m©X h˛E

g_` na

(C) dmÒVd _| Cn`moJ H$s JB© aoQ>oS> Mm°ãS>mB© Ho$

‡{VeV na

(D) Cn`©w∫$ g^r
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25. The draft requirement for

a coulter, in plough-coulter

combination, is about

(A) 5–10% of total draft

(B) 10–17% of total draft

(C) 15–20% of total draft

(D) 20–22% of total draft

26. In a high-pressure orchard

sprayer, the favourable condi-

tion for good foliage penetration

is

(A) small spray angle

(B) large droplet size

(C) high discharge velocity from

spray nozzle

(D) All of the above

27. In a field forage chopper, the

length of cut can be varied by

(A) changing the speed of feed

mechanism

(B) changing the number of

knives

(C) changing the speed of

cutting head

(D) All of the above

28. According to D. Hunt, which of

the following parameters is

directly proportional to the

width of an implement?

(A) Initial cost of the implement

(B) Operating cost of tractor per

hour

(C) Operating cost of implement

per hour

(D) All of the above

29. The advantage of mechanization

is

(A) timely application of input

(B) drudgery reduction

(C) increased cropping intensity

(D) All of the above

30. In case of cultivated lands, the

depth of soil of ‘plough layer’

ranges between

(A) 10 cm to 15 cm from the

ground surface

(B) 15 cm to 20 cm from the

ground surface

(C) 20 cm to 30 cm from the

ground surface

(D) None of the above

31. Useful forces are the forces that

a plough must overcome in

(A) soil cutting, lifting, invert-

ing and pulverizing

(B) soil cutting only

(C) soil pulverizing only

(D) moving of soil only

32. If a subsoiler is working too deep

below the hard pan, then it will

cause

(A) increased area of soil

disturbance

(B) less draft

(C) smearing of soil

(D) All of the above
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25. hb-H$moÎQ>a gß`moOZ _|, H$moÎQ>a H$m S¥>m‚Q>

(qIMmd) hmoVm h°, bJ^J

(A) Hw$b S¥>m‚Q> H$m 5–10%

(B) Hw$b S¥>m‚Q> H$m 10–17%

(C) Hw$b S¥>m‚Q> H$m 15–20%

(D) Hw$b S¥>m‚Q> H$m 20–22%

26. CÉ X~md dmbo Am∞Mm©S>© Ò‡o`a _|, nŒmm| Ho$

~rM A¿N>o go {N>ãS>H$md Ho$ {bE AZwHy$b

pÒW{V hmoVr h°

(A) N>moQ>m Ò‡o H$moU H$m hmoZm

(B) ~yßXm| H$m ~ãS>m AmH$ma

(C) Ò‡o ZmoOb go CÉ {S>ÒMmO© doJ

(D) Cn`©w∫$ g^r

27. \$sÎS> \$moaoO Mm∞na _|, H$mQ>Zo H$s bß~mB© _|

~Xbmd {H$`m Om gH$Vm h°

(A) \$sS> VßÃ H$s J{V ~XbH$a

(B) „boS>m| H$s gßª`m ~XbH$a

(C) H$qQ>J hoS> H$s J{V ~XbH$a

(D) Cn`©w∫$ g^r

28. S>r0 hßQ> Ho$ AZwgma, {ZÂZ{b{IV _| go

H$m°Z-gm H$maH$ {H$gr `ßÃ H$s Mm°ãS>mB© Ho$ grYo

AmZwnm{VH$ h°?

(A) `ßÃ H$m ‡maß{^H$ _yÎ`

(B) Q¥>°äQ>a H$m ‡{V KßQ>m n[aMmbZ _yÎ`

(C) `ßÃ H$m ‡{V KßQ>m n[aMmbZ _yÎ`

(D) Cn`©w∫$ g^r

29. _erZrH$aU H$m bm^ h°

(A) BZnwQ> H$m g_` na AZw‡`moJ

(B) H${R>Z n[al_ _| H$_r

(C) \$gb gKZVm _| d•{’

(D) Cn`©w∫$ g^r

30. IoVr `moΩ` ^y{_ _| "hb naV' H$s {_≈>r-JhamB©

_____ Ho$ ~rM hmoVr h°ü&

(A) O_rZ H$s gVh go 10 cm go

15 cm

(B) O_rZ H$s gVh go 15 cm go

20 cm

(C) O_rZ H$s gVh go 20 cm go

30 cm

(D) Cn`©w∫$ _| go H$moB© Zht

31. Cn`moJr ~b do ~b h°ß, {OZ na hb H$mo H$m~y

nmZm hmoVm h°

(A) {_≈>r H$mo H$mQ>Zo, CR>mZo, nbQ>Zo Am°a

^wa^wam H$aZo _|

(B) Ho$db {_≈>r H$mo H$mQ>Zo _|

(C) Ho$db {_≈>r H$mo ^wa^wam H$aZo _|

(D) Ho$db {_≈>r H$mo J{Verb H$aZo _|

32. `{X H$moB© g~-gm∞Bba hmS>© n°Z Ho$ ~h˛V ZrMo

H$m`© H$a ahm h°, Vmo CgHo$ H$maU

(A) {_≈>r {S>ÒQ>a~o›g Ho$ joÃ _| d•{’ hmoJr

(B) S¥>m‚Q> H$_ hmoJm

(C) {_≈>r H$m pÒ_`[a®J hmoJm

(D) Cn`©w∫$ g^r
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33. Cambridge roller has

(A) a single roller with smooth

surface

(B) more than one roller with

ribbed surface

(C) more than one roller with

smooth surface

(D) single roller with ribbed

surface

34. PVC pipe used as seed tube of

seed drill should have internal

diameter of

(A) 25 mm–30 mm

(B) 45 mm–50 mm

(C) 50 mm–60 mm

(D) 60 mm–70 mm

35. A grubber weeder is used

for weeding and interculture

operation in

(A) lowland row crops

(B) upland row crops

(C) both lowland and upland

row crops

(D) None of the above

36. Which of the following sprayers

produces uniform size droplets?

(A) Knapsack sprayer

(B) Foot sprayer

(C) CDA sprayer

(D) Boom-type field sprayer

37. In mechanical harvesting, the

lodged crop

(A) increases machine effi-

ciency

(B) decreases machine effi-

ciency

(C) does not affect machine

efficiency at all

(D) Machine efficiency remains

same as in case of upright

crop

38. Compared to a wide cylinder, a

narrow cylinder combine has

(A) small size of threshing

cylinder

(B) large size of threshing

cylinder

(C) equal size of threshing

cylinder

(D) None of the above

39. Which of the follwoing threshers

produces fine quality Bhusa?

(A) Syndicator thresher

(B) Wire loop thresher

(C) Rasp bar thresher

(D) Axial flow thresher

40. Rectangular balers are more

popular due to

(A) smaller size of bales

(B) higher field efficiency

(C) less power requirement

(D) All of the above
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33. H°$pÂ~´O amoba _|

(A) {MH$Zr gVh dmbm EH$ amoba hmoVm h°

(B) [a„S> gVh dmbo EH$ go A{YH$ amoba

hmoVo h¢

(C) {MH$Zr gVh dmbo EH$ go A{YH$ amoba

hmoVo h¢

(D) [a„S> gVh dmbm EH$ amoba hmoVm h°

34. grS> {S¥>b Ho$ grS> Q>Áy~ Ho$ Í$n _| Cn`moJ {H$E

OmZo dmbo nr0 dr0 gr0 nmBn H$m AmßV[aH$

Ï`mg hmoZm Mm{hE

(A) 25 mm–30 mm

(B) 45 mm–50 mm

(C) 50 mm–60 mm

(D) 60 mm–70 mm

35. J´~a drS>a H$m Cn`moJ {ZamB©-JwãS>mB© Am°a

AßVaH•${f {H´$`m Ho$ {bE {H$`m OmVm h°

(A) bmob°›S> H$s nß{∫$ dmbr \$gbm| _|

(B) Anb°›S> H$s nß{∫$ dmbr \$gbm| _|

(C) bmob°›S> Am°a Anb°›S> XmoZm| H$s nß{∫$

dmbr \$gbm| _|

(D) Cn`©w∫$ _| go H$moB© Zht

36. {ZÂZ{b{IV _| go H$m°Z-gm Ò‡o`a EH$g_mZ

AmH$ma H$s ~yßX| ‡XmZ H$aVm h°?

(A) Z°n≤g°H$ Ò‡o`a

(B) \w$Q> Ò‡o`a

(C) gr0 S>r0 E0 Ò‡o`a

(D) ~y_-Q>mBn \$sÎS> Ò‡o`a

37. `mß{ÃH$ H$Q>mB© _|, O_rZ na {Jar h˛B© \$gb

(A) _erZ H$s XjVm H$mo ~ãT>mVr h°

(B) _erZ H$s XjVm H$mo KQ>mVr h°

(C) _erZ H$s XjVm H$mo {~ÎHw$b ^r

‡^m{dV Zht H$aVr h°

(D) _erZ H$s XjVm grYr \$gb Ho$ _m_bo

_| g_mZ ahVr h°

38. dmBS>-{gqbS>a H$s VwbZm _|, Z°amo-{gqbS>a

H$Â~mBZ _|

(A) W´oqeJ {gqbS>a H$m AmH$ma N>moQ>m hmoVm h°

(B) W´oqeJ {gqbS>a H$m AmH$ma ~ãS>m hmoVm h°

(C) W´oqeJ {gqbS>a H$m AmH$ma g_mZ

hmoVm h°

(D) Cn`©w∫$ _| go H$moB© Zht

39. {ZÂZ{b{IV _oß go H$m°°Z-gm W´oea A¿N>r

JwUdŒmm H$m ^ygm XoVm h°?

(A) qg{S>Ho$Q>a W´oea

(B) dm`a byn W´oea

(C) amÒn ~ma W´oea

(D) Ajr` ‡dmh W´oea

40. Am`VmH$ma ~oba {H$gHo$ H$maU A{YH$

‡M{bV h°ß?

(A) ~ob H$m N>moQ>m AmH$ma

(B) A{YH$ joÃ XjVm

(C) H$_ e{∫$ H$s AmdÌ`H$Vm

(D) Cn`©w∫$ g^r
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41. As per BIS recommendation, the

minimum weight of flywheel of a

hand chaff cutter is

(A) 25 kg

(B) 24 kg

(C) 27 kg

(D) 26 kg

42. In order to determine puddling

index, the soil-water suspension

is kept undisturbed for

(A) 12 hours

(B) 16 hours

(C) 18 hours

(D) 24 hours

43. The distribution line of food

processing operations in the

industry follows the system of

(A) straight-line layout

(B) L-layout

(C) U-layout

(D) All of the above

44. In freezing of food product for

storage, the product is kept in

temperature range of

(A) 3 °C to 5 °C

(B) –10 °C to –15 °C

(C) –18 °C to –25 °C

(D) –3 °C to –5 °C

45. 1 kg mole of gas at 273 K

occupies

(A) 16·4 m3 volume

(B) 18·4 m3 volume

(C) 20·4 m3 volume

(D) 22·4 m3 volume

46. A fluid is said to be Newtonian

fluid if it

(A) has high viscosity

(B) shows linear relationship

between shear stress and

strain

(C) has low viscosity

(D) shows non-linear relation-

ship between shear stress

and strain

47. Which one of the following is a

non-Newtonian fluid?

(A) Water

(B) Coconut oil

(C) Solution of sugar

(D) Glycerol

48. The advantage of processing of

harvested crop is

(A) reduction in keeping quality

(B) deteriorating materials

changed into food materials

(C) limited use of agro-

processing industries

(D) unemployment increases
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41. ~r0 AmB0 Eg0 AZweßgm Ho$ AZwgma, hmW go

Mmam H$mQ>Zo dmbr _erZ Ho$ ‚bmB©Ïhrb H$m

›`yZV_ dOZ hmoVm h°

(A) 25 kg

(B) 24 kg

(C) 27 kg

(D) 26 kg

42. nS>qbJ B›S>oäg {ZYm©[aV H$aZo Ho$ {bE,

{_≈>r-nmZr Ho$ Kmob H$mo A~m{YV aIm OmVm h°

(A) 12 KßQ>o Ho$ {bE

(B) 16 KßQ>o Ho$ {bE

(C) 18 KßQ>o Ho$ {bE

(D) 24 KßQ>o Ho$ {bE

43. C⁄moJ _| Im⁄ ‡gßÒH$aU H$m`m] H$s {dVaU

bmBZ {H$g ‡Umbr H$m AZwgaU H$aVr h°?

(A) grYr aoIm boAmCQ>

(B) L-boAmCQ>

(C) U-boAmCQ>

(D) Cn`©w∫$ g^r

44. ^ßS>maU Ho$ {bE Im⁄ CÀnmX H$mo \´$sO H$aZo

_| CÀnmX H$mo {H$g Vmn_mZ gr_m _| aIm

OmVm h°?

(A) 3 °C go 5 °C

(B) –10 °C go –15 °C

(C) –18 °C go –25 °C

(D) –3 °C go –5 °C

45. 273 K na 1 kg _mob J°g {H$VZm ÒWmZ

KoaVr h°?

(A) 16·4 m3 Am`VZ

(B) 18·4 m3 Am`VZ

(C) 20·4 m3 Am`VZ

(D) 22·4 m3 Am`VZ

46. {H$gr –d H$mo ›`yQ>moo{Z`Z –d H$hm OmVm h°,

`{X dh

(A) A{YH$ Ì`mZVm dmbm h°

(B) {e`a ÒQ¥>og Am°a ÒQ¥>oZ Ho$ ~rM a°{IH$

gÂ~›Y Xem©Vm h°

(C) H$_ Ì`mZVm dmbm h°

(D) {e`a ÒQ¥>og Am°a ÒQ¥>oZ Ho$ ~rM J°a-a°{IH$

gÂ~›Y Xem©Vm h°

47. {ZÂZ{b{IV _| go H$m°Z-gm EH$ J°a-›`yQ>mo{Z`Z

–d h°?

(A) nmZr

(B) Zm[a`b nmZr

(C) MrZr H$m Kmob

(D) pΩbgam∞b

48. H$Q>r hwB© \$gb Ho$ ‡gßÒH$aU H$m bm^ h°

(A) JwUdŒmm ~ZmE aIZo _| H$_r

(B) Iam~ hmoZo dmbr gm_J´r, Im⁄ gm_J´r

_| n[ad{V©V hmo OmVr h°

(C) H•${f-‡gßÒH$aU C⁄moJm| H$m gr{_V

Cn`moJ

(D) ~oamoOJmar ~ãT>Vr h°
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49. For transportation of grain with

a belt conveyor, the speed of belt

should not increase more than

(A) 1·5 m/s

(B) 2·5 m/s

(C) 3·5 m/s

(D) 4·5 m/s

50. The capacity of a screw conveyor

is not influenced by

(A) screw diameter

(B) inclination of screw blade

(C) speed of blade

(D) None of the above

51. In pneumatic conveying, the air

velocity required for dispersion

of bulk material, is in the range

of

(A) 15 m/s–30 m/s

(B) 12 m/s–25 m/s

(C) 10 m/s–20 m/s

(D) 8 m/s–15 m/s

52. The important parameter for

design and complete automatic

clearing of bin is

(A) bin height

(B) feeding method of bin

(C) angle of grain friction

(D) All of the above

53. Safe storing days of wheat for

good germination, with initial

moisture content of 15% and

temperature of 23 °C, is

(A) 5 days

(B) 7 days

(C) 10 days

(D) 15 days

54. Pharmaceutical related products

can be dried by

(A) spray drier

(B) tray drier

(C) tower drier

(D) rotary drier

55. One ton of refrigeration is

equivalent to the capacity to

absorb heat at the rate of

(A) 3·516 kW

(B) 2·516 kW

(C) 2·615 kW

(D) 3·156 kW
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49. ~oÎQ> H$›do`a go AZmO Ho$ ÒWmZm›VaU Ho$ {bE

~oÎQ> H$s J{V {H$ggo A{YH$ Zht hmoZr

Mm{hE?

(A) 1·5 m/s

(B) 2·5 m/s

(C) 3·5 m/s

(D) 4·5 m/s

50. ÒH´y$ H$›do`a H$s j_Vm {H$gHo$ ¤mam ‡^m{dV

Zht hmoVr h°?

(A) ÒH´y$ H$m Ï`mg

(B) ÒH´y$ „boS> H$m PwH$md

(C) „boS> H$s J{V

(D) Cn`©w∫$ _| go H$moB© Zht

51. dm`dr` gßdhZ _| WmoH$ gm_J´r Ho$ \°$bmd Ho$

{bE AmdÌ`H$ dm`w doJ H$s gr_m hmoVr h°

(A) 15 m/s–30 m/s

(B) 12 m/s–25 m/s

(C) 10 m/s–20 m/s

(D) 8 m/s–15 m/s

52. {~Z Ho$ {S>OmBZ Am°a nyU© ÒdMm{bV g\$mB© Ho$

{bE _hŒdnyU© n°am_rQ>a h°

(A) {~Z H$s D±$MmB©

(B) {~Z H$mo ^aZo H$s {d{Y

(C) AZmO H$m Kf©U H$moU

(D) Cn`©w∫$ g^r

53. A¿N>o AßHw$aU Ho$ {bE Johˇ± Ho$ gwa{jV ^ßS>maU

Ho$ {XZ, ‡mapÂ^H$ Z_r H$s _mÃm 15% Am°a

Vmn_mZ 23 °C Ho$ gmW hm|Jo

(A) 5 {XZ

(B) 7 {XZ

(C) 10 {XZ

(D) 15 {XZ

54. \$m_©Ò`w{Q>H$b gÂ~p›YV CÀnmXm| H$mo gwIm`m

OmVm h°

(A) Ò‡o S¥>m`a ¤mam

(B) Q¥>o S¥>m`a ¤mam

(C) Q>mda S¥>m`a ¤mam

(D) amoQ>ar S¥>m`a ¤mam

55. EH$ Q>Z ‡erVZ, _____ H$s Xa go J_u H$mo

Ademo{fV H$aZo H$s j_Vm Ho$ g_VwÎ` h°ü&

(A) 3·516 kW

(B) 2·516 kW

(C) 2·615 kW

(D) 3·156 kW
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56. Separation of cream from milk

can be best done by keeping the

milk at temperature

(A) 8 °C

(B) 6 °C

(C) 4 °C

(D) 2 °C

57. The term ‘loss tangent’ is related

with

(A) radiation heating

(B) microwave heating

(C) heat exchangers

(D) freezing

58. Which of the following screens

is more helpful for screening of

wet material?

(A) Stationary screens

(B) Vibratory screens

(C) Gyratory screens

(D) All of the above

59. The minimum and maximum

wall thickness of a bag storage

structure is limited to

(A) 25 cm and 30 cm

(B) 30 cm and 35 cm

(C) 35 cm and 40 cm

(D) 37·5 cm and 45 cm

60. In a deep bin, the plane of

rupture

(A) meets the opposite side

before emerging from grain

(B) meets the grain surface

before striking the bottom

(C) meets the grain surface

before striking the opposite

side

(D) None of the above

61. The permissible loss for wheat,

rye and barley stored in bulk in

flat warehouses for over one

year is

(A) 0·12%

(B) 0·20%

(C) 1·2%

(D) 12%

62. While designing of grain bin,

which formula takes into

account the friction between the

grain and bin wall?

(A) Hydrostatic formula

(B) Rankine’s formula

(C) Janssen’s formula

(D) None of the above

63. Which of the following factors

affects the drying of grain in a

dryer?

(A) Grain feed rate

(B) Type of dryer and drying

method

(C) Depth of grain

(D) All of the above
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56. XyY go _bmB© H$mo AbJ H$aZo H$m g~go A¿N>m

Cnm` XyY H$mo {H$g Vmn_mZ na aIH$a {H$`m

Om gH$Vm h°?

(A) 8 °C

(B) 6 °C

(C) 4 °C

(D) 2 °C

57. "bm∞g Q>°›O|Q>' e„X {H$ggo gÂ~p›YV h°?

(A) ao{S>EeZ hrqQ>J

(B) _mBH´$modod hrqQ>J

(C) hrQ> EägM|Og©

(D) \´$sqOJ (O_Zm)

58. {ZÂZ{b{IV _| go H$m°Z-gr N>bZr (ÒH´$sZ)

Jrbr gm_J´r H$mo N>mZZo Ho$ {bE A{YH$

ghm`H$ h°?

(A) pÒWa ÒH´$sZ

(B) H$ÂnZ ÒH´$sZ

(C) OmBaoQ>ar ÒH´$sZ

(D) Cn`©w∫$ g^r

59. ~°J ^ßS>maU gßaMZm Ho$ Xrdma H$s _moQ>mB© H$s

›`yZV_ Am°a A{YH$V_ gr_m hmoVr h°

(A) 25 cm Am°a 30 cm

(B) 30 cm Am°a 35 cm

(C) 35 cm Am°a 40 cm

(D) 37·5 cm Am°a 45 cm

60. S>rn {~Z _|, flboZ Am∞\$ aflMa

(A) AZmO go {ZH$bZo go nhbo {dnarV {Xem

go {_bVm h°

(B) ZrMo Q>H$amZo go nhbo AZmO H$s gVh go

{_bVm h°

(C) {dnarV {Xem _| Q>H$amZo go nhbo AZmO

H$s gVh go {_bVm h°

(D) Cn`©w∫$ _| go H$moB© Zht

61. EH$ df© go A{YH$ g_` VH$ ‚b°Q> JmoXm_m| _|

WmoH$ _| gßJ´hrV Johˇ±, amB© Am°a Om° Ho$ {bE

AZw_V ZwH$gmZ hmoVm h°

(A) 0·12%

(B) 0·20%

(C) 1·2%

(D) 12%

62. AZmO {~Z H$mo {S>OmBZ H$aVo g_`, H$m°Z-gm

gyÃ AZmO Am°a {~Z H$s Xrdma Ho$ ~rM Kf©U

H$mo ‹`mZ _| aIVm h°?

(A) hmBS¥>moÒQ>°{Q>H$ gyÃ

(B) a¢{H$Z H$m gyÃ

(C) O°ZgoZ H$m gyÃ

(D) Cn`©w∫$ _| go H$moB© Zht

63. {ZÂZ{b{IV _| go H$m°Z-gm H$maH$ S¥>m`a _|

AZmO gwImZo H$mo ‡^m{dV H$aVm h°?

(A) AZmO H$s \$sS> Xa

(B) S¥>m`a H$m ‡H$ma Am°a gwImZo H$s {d{Y

(C) AZmO H$s JhamB©

(D) Cn`©w∫$ g^r
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64. ‘Grain isotherm’ is the

relationship between

(A) ambient air temperature

and air humidity

(B) grain temperature and

grain moisture

(C) equilibrium moisture

content and equilibrium

relative humidity

(D) None of the above

65. The surcharge angle formed by

paddy grains is

(A) 25°

(B) 20°

(C) 15°

(D) 12°

66. Which of the following methods

is used to obtain the

reciprocating movement of the

ram and quick return

mechanism in a shaping

machine?

(A) Crank and slotted link

mechanism

(B) Whitworth quick return

mechanism

(C) Hydraulic shaper mecha-

nism

(D) All of the above

67. Which type of flow takes place in

an extruder?

(A) Drag flow

(B) Pressure flow

(C) Leakage flow

(D) All of the above

68. In a compression test, even for a

small strain, the Hookean

elasticity does not exist in

(A) fruits

(B) vegetables

(C) cereal grains

(D) All of the above

69. Out of the following, which

criterion is not considered while

constructing a farm gate?

(A) Simple construction

(B) Sufficient height

(C) Weight of gate

(D) Maximum strength

70. Which of the following is a type

of poultry house?

(A) Wire floored

(B) Deep litter

(C) Cage house

(D) All of the above
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64. {ZÂZ{b{IV _| go {H$ZHo$ ~rM Ho$ gÂ~›Y H$mo

"J´oZ AmBgmoW_©' H$hVo h¢?

(A) n[adoer dm`w Vmn_mZ Am°a dm`w Am–©Vm

(B) AZmO H$m Vmn_mZ Am°a AZmO H$s Z_r

(C) gmÂ` Z_r H$s _mÃm Am°a gmÂ` gmnoj

Am–©Vm

(D) Cn`©w∫$ _| go H$moB© Zht

65. YmZ Ho$ XmZm| go ~ZZo dmbm A{Y^ma H$moU

hmoVm h°

(A) 25°

(B) 20°

(C) 15°

(D) 12°

66. EH$ eoqnJ _erZ _| a°_ Am°a {π$H$ [aQ>Z©

_oH°${Z¡_ H$s ao{g‡moHo$qQ>J _yd_|Q> {ZÂZ{b{IV

_| go {H$g {d{Y ¤mam ‡m· hmoVr h°?

(A) H´°$›H$ Am°a Òbm∞Q>oS> qbH$ _oH°${Z¡_

(B) pÏhQ≤>dW© {π$H$ [aQ>Z© _oH°${Z¡_

(C) hmBS¥>m∞{bH$ eona _oH°${Z¡_

(D) Cn`©w∫$ g^r

67. EägQØ>S>a _| {H$g ‡H$ma H$m ‡dmh (‚bmo)

hmoVm h°?

(A) S¥>°J ‚bmo

(B) ‡oea ‚bmo

(C) brHo$O ‚bmo

(D) Cn`©w∫$ g^r

68. EH$ gßnrS>Z narjU _|, `hm± VH$ {H$ EH$ N>moQ>o

VZmd Ho$ {bE ^r, h˛{H$`Z bmoM BZ_| go

{H$g_| Zht hmoVm h°?

(A) \$bm| _|

(B) gp„O`m| _|

(C) AZmO Ho$ XmZm| _|

(D) Cn`©w∫$ g^r

69. \$m_© JoQ> H$m {Z_m©U H$aVo g_` {ZÂZ{b{IV _|

go {H$g _mnX�S> na {dMma Zht {H$`m

OmVm h°?

(A) gmYmaU {Z_m©U

(B) n`m©· D±$MmB©

(C) JoQ> H$m dOZ

(D) A{YH$V_ _O~yVr

70. {ZÂZ{b{IV _| go H$m°Z-gm _wJunmbZ J•h H$m

EH$ ‡H$ma h°?

(A) dm`a ‚bmoS>©

(B) S>rn {bQ>a

(C) Ho$O hmCg

(D) Cn`©w∫$ g^r
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71. 1  kg/cm2 is approximately

equal to

(A) 103 Pa

(B) 105 N/m2

(C) 104 N/m2

(D) None of the above

72. The principle of working of the

constant volume thermometer is

based on

(A) Charles’ law

(B) Boyle’s law

(C) Gay-Lussac’s law

(D) the equation of state

73. What should be the minimum

field efficiency and puddling

index of rotavator?

(A) 85% and 75%

(B) 80% and 70%

(C) 75% and 65%

(D) 65% and 75%

74. The variation in dropping of seed

and fertilizer in different feeding

outlets separately shall not be

more than _____% and _____%

respectively from the average

quantity.

(A) 8, 12·5

(B) 5, 10

(C) 7, 12·5

(D) 5, 12

75. Sprayer pump variation in

discharge rate between first and

last collection pan shall not be

more than

(A) ± 4%

(B) ±5%

(C) ±6%

(D) ±7%

76. AS per BIS, the combine losses

should not be more than _____

for wheat and paddy.

(A) 1·5%

(B) 2·5%

(C) 3·5%

(D) 4·5%
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71. 1  kg/cm2 bJ^J {H$gHo$ ~am~a h°?

(A) 103 Pa

(B) 105 N/m2

(C) 104 N/m2

(D) Cn`©w∫$ _| go H$moB© Zht

72. pÒWa Am`VZ W_m}_rQ>a Ho$ H$m`© H$aZo H$m

{g’m›V {H$g na AmYm[aV h°?

(A) MmÎg© H$m {Z`_

(B) ~m∞`b H$m {Z`_

(C) Jo-bwgmH$ H$m {Z`_

(D) Bπo$eZ Am∞\$ ÒQ>oQ>

73. amoQ>mdoQ>a H$s ›`yZV_ H$m`© XjVm Am°a nS>qbJ

BßS>oäg ä`m hmoZm Mm{hE?

(A) 85% Am°a 75%

(B) 80% Am°a 70%

(C) 75% Am°a 65%

(D) 65% Am°a 75%

74. AbJ-AbJ \$sqS>J AmCQ>boQ> _| ~rO Am°a

Cd©aH$ H$mo AbJ-AbJ {JamZo _| EdaoO

π$mp›Q>{Q> go {^fiVm H´$_eÖ _____% Am°a

_____% go A{YH$ Zht hmoZr Mm{hEü&

(A) 8, 12·5

(B) 5, 10

(C) 7, 12·5

(D) 5, 12

75. {S>ÒMmO© Xa _| Ò‡o`a nÂn A›Va nhbo Am°a

AmIar gßJ´h ~V©Z _| _____ go A{YH$ Zht

hmoZm Mm{hEü&

(A) ± 4%

(B) ±5%

(C) ±6%

(D) ±7%

76. ~r0 AmB0 Eg0 Ho$ AZwgma, Johˇ± Am°a YmZ _|

H$Â~mBZ hm{Z _____ go A{YH$ Zht hmoZr

Mm{hEü&

(A) 1·5%

(B) 2·5%

(C) 3·5%

(D) 4·5%
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77. The threshed grain received at

main outlet with respect to total

grain input expressed as

percentage by mass is

(A) threshing efficiency

(B) cleaning efficiency

(C) winnowing efficiency

(D) None of the above

78. Seed damage, multiple dropping

of seeds and missing seeds are

the disadvantages with

(A) horizontal cell plate-type

planter

(B) inclined cell plate-type

planter

(C) vertical plate- or drum-type

planter

(D) All of the above

79. RPM of medium speed engines

is usually in the range of

(A) < 350

(B) 350–1000

(C) 1000–1500

(D) > 1500

80. In combine harvester, the ratio

of reel peripheral speed to

forward speed (reel speed index)

should normally be in the range

of

(A) 1·25 to 1·50

(B) 1·50 to 1·75

(C) 1·75 to 2·00

(D) 2·00 to 2·50

81. Mouldboard or MB plough is

made up of

(A) soft centre steel

(B) mild steel

(C) high-carbon steel

(D) manganese steel

82. The effective field capacity of a

1·6 m cutter bar reaper working

at 2 kmph with field efficiency of

80% is

(A) 0·256 ha/h

(B) 0·256 acre/h

(C) 0·156 ha/h

(D) 0·356 acre/h
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77. _oZ AmCQ>boQ> go ‡m· W´oÒS> XmZmoß Am°a _oZ

BZnwQ> go g^r XmZmoß Ho$ AZwnmV H$mo, {Ogo _mÃm

Ho$ ‡{VeV _| Ï`∫$ {H$`m OmVm h°, H$hVo h¢

(A) W´oqeJ XjVm

(B) g\$mB© XjVm

(C) {dZmoBßJ XjVm

(D) Cn`©w∫$ _| go H$moB© Zht

78. ~rO H$m Qy>Q>Zm, EH$ gmW H$B© ~rO {JaZm Am°a

~rO Z {JaZm {ZÂZ _| go {H$gHo$ ZwH$gmZ h°ß?

(A) hmoaBOmo›Q>b gob flboQ>-Q>mBn flbm›Q>a

(B) BZ≤äbmB›S> gob flboQ>-Q>mBn flbm›Q>a

(C) d{Q>©H$b flboQ>- `m S¥>_-Q>mBn flbm›Q>a

(D) Cn`©w∫$ g^r

79. _‹`_ J{V BßOZmoß H$s Ama0 nr0 E_0

Am_Vm°a na hmoVr h°

(A) < 350

(B) 350–1000

(C) 1000–1500

(D) > 1500

80. Hß$~mBZ hmd}ÒQ>a _| arb n[aYr` J{V Am°a AmJo

H$s J{V (arb ÒnrS> BßS>oäg) H$m AZwnmV

gm_m›`V: _____ H$s gr_m _| hmoZm Mm{hEü&

(A) 1·25 go 1·50

(B) 1·50 go 1·75

(C) 1·75 go 2·00

(D) 2·00 go 2·50

81. _moÎS>~moS>© (E_0 ~r0) flbmD$ {H$g YmVw go

~Zm hmoVm h°?

(A) Za_ Ho$›– ÒQ>rb

(B) hbH$m ÒQ>rb

(C) CÉ H$m~©Z ÒQ>rb

(D) _¢JZrO ÒQ>rb

82. 80% H$s joÃ XjVm Ho$ gmW 2 kmph H$s

J{V go H$m_ H$aZo dmbo 1·6 m H$Q>a ~ma

arna H$s ‡^mdr joÃ j_Vm h°

(A) 0·256 ha/h

(B) 0·256 acre/h

(C) 0·156 ha/h

(D) 0·356 acre/h
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83. The purchase price of tractor is

R5,50,000, useful life is

10 years and salvage value is

10% of purchase price.

Following the sum of the years

digit method, the depreciation in

third year is

(A) R52,000

(B) R62,000

(C) R72,000

(D) R82,000

84. The purpose of lubrication is

(A) reducing friction effect

(B) cooling effect

(C) sealing effect

(D) All of the above

85. Crown wheel is a part of

(A) differential system

(B) clutch system

(C) steering system

(D) brake system

86. In forced feed lubricating

system, pump is driven by

(A) camshaft

(B) crankshaft

(C) PTO shaft

(D) None of the above

87. In paddy processing, parboiling

is done to

(A) increase the moisture

content

(B) minimize the breakage

during milling

(C) minimize the head rice

recovery

(D) All of the above

88. The energy necessary to cause a

change in the particle size is

directly proportional to the size

of the particle raised to a power

n is given as

(A) Bond’s law

(B) Kick’s law

(C) Rittinger’s law

(D) Hooke’s law
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83. Q¥>°äQ>a H$m IarX _yÎ` R5,50,000 h°,

Cn`moJr g_` 10 df© h° Am°a ~Mmd _yÎ`,

IarX _yÎ` H$m 10% h°ü& dfm] Ho$ `moJ AßH$

{d{Y H$m nmbZ H$aVo h˛E Vrgao df© _|

_yÎ`-ımg _____ h°ü&

(A) R52,000

(B) R62,000

(C) R72,000

(D) R82,000

84. bw{~´Ho$eZ H$m C‘oÌ` h°

(A) Kf©U ‡^md H$mo H$_ H$aZm

(B) erVbZ ‡^md

(C) grqbJ ‡^md

(D) Cn`©w∫$ g^r

85. H´$mCZ Ïhrb _____ H$m {hÒgm h°ü&

(A) {S>\$aop›e`b ‡Umbr

(B) äbM ‡Umbr

(C) ÒQ>r`[a®J ‡Umbr

(D) ~´oH$ ‡Umbr

86. \$moÒS>© \$sS> ÒZohZ ‡Umbr _|, nÂn {H$gHo$ ¤mam

gßMm{bV hmoVm h°?

(A) H°$_em‚Q>

(B) H´°$›H$em‚Q>

(C) nr0 Q>r0 Amo0 em‚Q>

(D) Cn`©w∫$ _| go H$moB© Zht

87. YmZ ‡gßÒH$aU _|, nma~m∞BqbJ {H$`m OmVm h°

(A) Z_r H$s _mÃm ~ãT>mZo Ho$ {bE

(B) {_qbJ Ho$ Xm°amZ Qy>Q>-\y$Q> H$_ H$aZo Ho$

{bE

(C) hoS> amBg [aH$dar H$mo ›`yZV_ H$aZo Ho$

{bE

(D) Cn`©w∫$ g^r

88. H$U Ho$ AmH$ma _| n[adV©Z bmZo Ho$ {bE

AmdÌ`H$ D$Om©, n e{∫$ VH$ ~ãT>mE JE H$U

Ho$ AmH$ma Ho$ grYo AmZwnm{VH$ h°, {Ogo {X`m

J`m h°

(A) ~m∞›S> Ho$ {Z`_ Ho$ Í$n _|

(B) {H$H$ Ho$ {Z`_ Ho$ Í$n _|

(C) [aqQ>Ja Ho$ {Z`_ Ho$ Í$n _|

(D) h˛H$ Ho$ {Z`_ Ho$ Í$n _|
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89. Which among the following is a

food safety standard?

(A) ISO 9001

(B) ISO 22000

(C) ISO 14000

(D) All of the above

90. The Prevention of Food

Adulteration Act is enforced by

(A) Ministry of Food Processing

Industries

(B) Ministry of Health

(C) Ministry of Agriculture

(D) Ministry of Commerce

91. Which of the following is a

biodegradable plastic packaging

material?

(A) PET

(B) PLA

(C) PVC

(D) LDPE

92. Deep bed drying is characterized

by

(A) ambient temperature drying

(B) uniform drying rate

(C) underground drying struc-

ture

(D) significant moisture and

temperature gradients in

bed

93. Screw conveyor is generally used

to move grains horizontally;

however, it can also be used up

to an angle of

(A) 15°

(B) 30°

(C) 45°

(D) 90°

94. Fourier equation is used to

calculate heat transfer by

(A) conduction

(B) convection

(C) radiation

(D) All of the above
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89. {ZÂZ{b{IV _| go H$m°Z-gm Im⁄ gwajm

_mZH$ h°?

(A) AmB0 Eg0 Amo0 9001

(B) AmB0 Eg0 Amo0 22000

(C) AmB0 Eg0 Amo0 14000

(D) Cn`©w∫$ g^r

90. Im⁄ An{_lU {ZdmaU A{Y{Z`_ {H$gHo$

¤mam bmJy {H$`m OmVm h°?

(A) Im⁄ gßÒH$aU C⁄moJ _ßÃmb`

(B) ÒdmÒœ` _ßÃmb`

(C) H•${f _ßÃmb`

(D) dm{U¡` _ßÃmb`

91. {ZÂZ{b{IV _| go H$m°Z-gr ~m`mo{S>J´oS>o~b

flbmpÒQ>H$ n°Ho$qOJ gm_J´r h°?

(A) PET

(B) PLA

(C) PVC

(D) LDPE

92. S>rn ~oS> {d{Y ¤mam gwImZo H$s {deofVm h°

(A) n[adoe Vmn_mZ na gwIZm

(B) EH$g_mZ gwImZo H$s Xa

(C) ^y{_JV gwImZo H$s gßaMZm

(D) ~oS> _| _hŒdnyU© Z_r Am°a Vmn_mZ

‡dUVm

93. ÒH´y$ H$›do`a H$m Cn`moJ Am_Vm°a na AZmO H$mo

j°{VO Í$n go ÒWmZm›V[aV H$aZo Ho$ {bE {H$`m

OmVm h°, hmbmß{H$ BgH$m Cn`moJ _____ VH$

^r {H$`m Om gH$Vm h°ü&

(A) 15°

(B) 30°

(C) 45°

(D) 90°

94. \y$[a`a g_rH$aU H$m Cn`moJ _____ ‡H$ma H$s

D$Ó_m ÒWmZm›VaU H$s JUZm Ho$ {bE hmoVm h°ü&

(A) H$›S>äeZ

(B) Hß$doäeZ

(C) ao{S>EeZ

(D) Cn`©w∫$ g^r
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95. Which physical property is

necessary to evaluate aero-

dynamic properties of food in

case of terminal velocity?

(A) Density

(B) Shape

(C) Drag coefficient

(D) All of the above

96. In which type of barn, the cows

are housed and milked in the

same building?

(A) Loose housing barn

(B) Open air barn

(C) Stanchion barn

(D) None of the above

97. For a thermodynamic system,

work done in a process depends

upon the

(A) state of the system

(B) path of the system

(C) nature of the system

(D) external pressure

98. What is the mode of transfer of

thermal energy through the

movement of a liquid or a gas?

(A) Radiation

(B) Conduction

(C) Convection

(D) Evaporative cooling

99. An instrument used to measure

the solar radiation is

(A) thermometer

(B) pyrheliometer

(C) thermocouple

(D) All of the above

100. A reflector used in solar power

plant to reflect solar light is

(A) convex reflector

(B) concave reflector

(C) plain reflector

(D) All of the above
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95. Q>{_©Zb doJ Ho$ _m_bo _|, ^mooOZ Ho$

dm`wJ{VH$s` JwUm| H$m _yÎ`mßH$Z H$aZo Ho$ {bE

H$m°Z-gm ^m°{VH$ JwU AmdÌ`H$ h°?

(A) KZÀd

(B) AmH$ma

(C) ItM JwUmßH$

(D) Cn`©w∫$ g^r

96. {H$g ‡H$ma Ho$ I{bhmZ _|, Jm`moß H$mo EH$ hr

^dZ _| aIm OmVm h° Am°a Cgr ^dZ _| XyY

^r {ZH$mbm OmVm h°?

(A) Iwbm Amdmg I{bhmZ

(B) Iwbr hdm I{bhmZ

(C) ÒQ>oZ≤{M`Z I{bhmZ

(D) Cn`©w∫$ _| go H$moB© Zht

97. EH$ W_m}S>m`Zo{_H$ ‡Umbr Ho$ {bE, EH$

‡{H´$`m _| {H$`m J`m H$m`© {Z^©a H$aVm h°

(A) ‡Umbr H$s pÒW{V na

(B) ‡Umbr Ho$ nW na

(C) ‡Umbr H$s ‡H•${V na

(D) ~mhar X~md na

98. {H$gr Vab `m J°g H$s J{V Ho$ _m‹`_ go

Vmnr` D$Om© Ho$ hÒVm›VaU H$m VarH$m h°

(A) {d{H$aU

(B) gßMmbZ

(C) gßdhZ

(D) dmÓnrH$aUr` erVbZ

99. gm°a {d{H$aU H$mo _mnZo Ho$ {bE Cn`moJ {H$`m

OmZo dmbm `ßÃ h°

(A) W_m}_rQ>a

(B) nmBahr{bAmo_rQ>a

(C) W_m}H$nb

(D) Cn`©w∫$ g^r

100. gm°a D$Om© gß`ßÃ _| gm°a ‡H$me H$mo ‡{V{~pÂ~V

H$aZo Ho$ {bE Cn`moJ {H$`m OmZo dmbm

namdV©H$ h°

(A) CŒmb namdV©H$

(B) AdVb namdV©H$

(C) gmXm namdV©H$

(D) Cn`©w∫$ g^r
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25/AGS/M–2023–06 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

H•${f A{^`ßÃU
nÃ—II

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe
1. Bg ‡ÌZ-nwpÒVH$m  _| Hw$b 100 ‡ÌZ h¢ü&
2. g^r ‡ÌZm|  Ho$  AßH$  g_mZ h¢ü&
3. g^r ‡ÌZm|  Ho$  CŒma  X|ü&
4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s

˚m•ßIbm _w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gßª`m 30 Am°a 31) g{hV nyao 32 _w{–V

n•> h¢ Am°a H$moB© n•> `m ‡ÌZ Jm`~ `m {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _|

{H$gr ‡H$ma  H$s Ãw{Q> nmZo na VÀH$mb BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. `{X {H$gr ‡ÌZ _| {H$gr ‡H$ma H$s H$moB© _w–U `m Vœ`mÀ_H$ ‡H$ma H$s Ãw{Q> hmo, Vmo ‡ÌZm| Ho$ AßJóOr VWm {h›Xr Í$nm›Vam| _| go
AßJóOr Í$nm›Va H$mo  _mZH$  _mZm Om òJmü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo ‡ÌZ-nwpÒVH$m g{hV CŒma nÃH$ {X`m Om òJmü& AnZo CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ

_| AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm

Zht Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV H$mo>H$ H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
go AdÌ` Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma

nÃH$  H$m ghr _yÎ`mßH$Z Zht hmoJmü&

9. Bg nwpÒVH$m _| g^r ‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß {h›Xr _| _w{–V h¢ü& ‡À òH$ ‡ÌZ Ho$ Mma CŒmaçç(A), (B), (C) Am°a (D)
H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& `{X AmnH$mo Eogm
bJo {H$ {H$gr ‡ÌZ Ho$ EH$ go A{YH$ CŒma ghr h¢, Vmo Amn AnZo CŒma nÃH$ _| Cg CŒma H$mo Aß{H$V H$a| Omo AmnH$mo gdm}Œm_ bJoü&
‡À òH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _| Aß{H$V ghr CŒmam| na {Z^©a
hmoJmü&

10. CŒma nÃH$ _| ‡À òH$ ‡ÌZ gßª`m Ho$ gm_Zo Mma d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À òH$ ‡ÌZ Ho$ {bE
Ho$db EH$ CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _|
{ZemZ bJmVo h¢, Vmo AmnH$m CŒma JbV _mZm Om òJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr

Ò`mhr Ho$  ~m∞b-nm∞B›Q> noZ H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go
~mha H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m
AnZo gmW bo OmZo H$s AZw_{V  h°ü&

12. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm
AmnH$mo X�S>  {X`m  Om gH$Vm h°ü&

13. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr
narjmH$j  H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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